. . ) . \
230. — little learning is — dangerous thing. (&t TAEA) INU (e 1333

a) the, a b)a,a ¢) no article, a d) a, no article Aney
231. ‘— burnt child dreads — fire.’ (6T (ATt fite WGTEF S T = TG 3 BT 1w oraey gy,
a) The, the b) A, a c) A, the d) none IBRURBEA 13-14]Ang;,
232. — Mahabharat is — greatest epic in the world literature. [J'KKNIU (AL) 1819
a) no article, the b) the, the ¢) the, no articled) no article, no article Ang:h
233. Do you sell bananas by — kilo? (¥t f& cafer fRwma =1 fafer @7) [COU (B) 18.1g;
a) No article b) the ¢) a d) an Ang:j,

@3S (unit) fRe [{fe sat TS kilo, metre, dozen, score (3f%), hundred 97 7tf the o
h is sold by the metre. Eggs are sold by the dozen.

1. Positive Degree : adjective I¥ FYEISTI 07 |

2. Comparative Degree : T37 90 3% 1 7@9 047 D11 1 =4 |

3. Superlative Degree : T3 Y303 Wf\F A& A1 <FF N0 g1 <l 2 |

1.  There is much to be said on both sides. (S % AT WS (g 719 AM0R)  [RU 06-07]

a) Positive b) Comparative ¢) Superlative d) None Ans:d

m yEee @3 syllable A adjective (4tF comparative form @ er 4% superlative form
@ est (A T | (F94: tall-taller-tallest, long-longer-longest, short-shorter-shortest
m Positive degree 9 (*It¥ e AT Q Y r @R st @ | T wise-wiser-wisest
positive ¥ (*IT¥ y AFTE 3R BIF 4 consonant AT y (F i FCF comparative @ er aR
Superlative @ est Q@ 27 | $1F y 47 9t vowel AT @I #AfTST 71 207 TN er @32 est @M |

2. Which one is the correct sentence? [RU 09-10]
a) He is taller than we. b) He is more taller than I.
¢) He is more taller than we. d) He is taller than I Ans:d

a) (% we @7 7IfE=CS [ 207 | F199, comparative degree @R 46 WS 1 @7 W04y g 0 |
b) £ &4 taller 23 | ¥4, taller ft&? comparative o132 taller @3 #td more I wawE (R |

c) = more taller 97 #f7aTe @4 taller 992 we @3 AT [ == | oAk AfoF ST TR d)

3. What is the superlative degree of the word ‘shy’? [T RoTR #R-Te-3)]

a) shy b) shyer ¢) shyesle d) shiest Ans:d

4. The superlative degree of the word ‘able’ is — [FRETT (oTeTete s e i -3

a) most able b) ablest ¢) best able d) abler [RU 06-07) Ansb

5. What is the superlative degree of ‘costly’? [RU (A3- ) 12-13, (F) 15-16

a) costier b) costly ¢) costliest d) costlyest A

6.  The superlative degree of ‘easy’ is — [RY i

a) easier b) easiest ¢) easy d) none Aos?

7. The examination was quite easy; — we expected. [Frewidt wba, el (WW)_OQ]
a) more easy that b) more easy than

¢) easier than d) more easier than pEL
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72 a1 ook syllable R adjective a3 :
st T4 less 9 least G TS COmparative @R superlative 32T 2w more

R e | @ more/less acti :
:Pﬂ“"@ «q 7@ adjective 9% N ed, en ore/less active, most/least active |
O b

. ant, fll‘, ou ,
The word “difficult’ in its super 8, est, al, ing Zwyifiy o |

‘ lati
a) most difficult  b) very diff; il b)vgi :g;:;;cst d,[,@nvlﬁw e *I‘Tﬁ*m'wﬁmm T AfreTE-03]
Which one is the example of comparative d ?) very very difficult Ans:a
9. a) Most famous  b) Easy 5] Beaufif clgreci. | | [RU 07-08]
10. §9Perlatlilvc dcgre; of ‘careful’ js — ! d) More obedient [[Up;zs(;?]
M?Kigf:m}t, adjectiv)e\;g:;:;fﬁwmlll el d) Te sarenil AST
. 1 comparative @ superlative T |
DO
/Fa’r/__,,__ tarther farthest Fore former foremost, first
Bad, 1“,3V1l worse (\'BW) WOrst (sur5) Forth, Fore | further furthest
e
My More Most Little Less, lesser Least
Good, well_ | better best Hind Hinder Hindermost
11. The word ‘least’ is the superlative degree of - [5a(60 '@ ST SRR FER-55]
a)little b) less ¢) none d) lesser Ans:a
2. 1 found the worse condition.” The underlined word is - [z ey FwEI-3¢ ]
a) positive b) comparative ¢) assertive  d) superlative Ans:b
13. Which one is an example of a positive degree? [y TaeEER TfETe FHFE-35)
a) more b) much c) less d) last Ans:b
14. 'Which one of the following is an example of superlative degree? [*==& T
a) much b) least c) less d) worse FPorfamres-55] Ans:b
15. Write the superlative degree of ‘good’ — [mfSereT fore SfeTE-32)
a) better b) worst c) best d) immune Ans:c
16. Which one is the superlative of ‘Little’? [-faar w=mit sfemf¥ar affrndi-so, RU (E-cmg) 14-15]
a) More little b) Lest ¢) Less d) Least Ans:d
17. Which one is the superlative degree of ‘bad’? [RU 09-10,(A4) 12-13,NSI «7 57z “ffwre-3¢]
a ) evil (<) b) worse (315) ¢) worst (earg) d) none [IU F 17-18] Ans:c
18. The superlative degree of ‘Fore’ is — [IU (C) 13-14, MBSTU (D) 15-16]
a) forer b) forest ¢) forerest d) furthest Ans:d
19.  Which one is superlative degree? [RU 09-10]
a) worst b) farther ¢) better d) worse Ans:a

@e (1St W orfr/oqge) latter last | Late (FRRST FATIFIN) later latest

20. The superlative form of the word ‘late’— [/ Seert/amt it S (ATEO)-3¢, IU (H) 17-18]
a) latter b) last ¢) lasted d) least Ans:b
1. He learned to read and write quite —in his life. [DU (B) 06-07, (A) 16-17]
a) lately b) late ¢) latest d) latter Ans:b
2. The — part of this book is interesting. (42 220 R Wil wEEE) [KU 07-08, CIRSI-29]
3 a) Latter b) Later ¢) Late d) Leter Ans:a
- 23. The- chapters of the book are more interesting and informative. [RU (B) 16-17]
E a) last b) later c) latter d) late Ans:c
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[arern® R Wmm

e
. : int of length of service:
50. Lam senlor - him PO 010y o Hto, N -  Angg
a) to, in b) of, T gl TS el edfbw (adjective) &t more/lesg i
a2 s 91 797 7 ¢ 4re w57 (adjective) comparative za =t |

; qA A
R adjective @ T er < ¢ 17 W‘T) f#g Alif is more brave than prudent (433 gfesg ¥

Alifis braver than Raj. (fx e @ e ) arate et 4
51. Which one is the correct sentence? (G TR SITTI MAE] y ) 17~18]

b) He is more good than bad

a) He is better than bad d) He is the most better than bad

. 11 than bad Am:b
Rule 12 Hmmwe . mutcll:a‘:e:m as/so —as ¥ 7 subjective form I6T | ©t1 Informal Engligh ¢ than’
uie N

a7 Iz objective form (me, him, her) I37® 2 | &0y 7B AT subjective form Fidis 1R Tew

52. He is taller than —. (C7 I (50K =THT) [ﬁwwmmﬁww]
He is older than —. (CT ST (T IR0 I9) - [RU (rifers R 10-11)
a) me b) myself ol d) am1I Ans;¢
53. Choose the correct sentence. o [JnU (B, Elective English) 08-09)
a) [ have more mistakes than him. b) I have most mistakes than him.
¢) I have more mistakes than he.  d) I have more mistakes than his, Ans:c
54.  Which of the following is incorrect? [RU (F1) 1112
a) He is better than me b) He is better than mine
¢) He is better than I d) None of the above Ans'h
55. Which one is a correct sentence? (& ga fere_e, HSTU B 15-16, wﬁrmm.qq]
a) Rahim is as tall as me b) Rahim is as tall as mine
¢) Rahim is as tall as | d) Rahim is tall as me Ans:c

NNIWKE Positive degree 93 5t Very @R comparative degree 93 yis| much/very much 3w
56. The weather is — gloomier today than it was yesterday. [DU B 14-15, v frepi ﬂﬁwf«-mj

a) more b) more than  ¢) very d) much Ans:d
57. The sum is very — easier. (T Y32 7zw) [HSTU (F) 14-15]
a) very b) more ¢) much d) the most easier Ans:c
58. Ifeel — now. [BU (3) 13-14]
a) more happier b) much happy ¢) much happier d) more happy Ans:c
59.  Honey is — sweet. [29" BCS, JU (%, 3fozm) 09-10, 31 wfivew gfime enite wige #6-23)
a) very b) too much  ¢) much too d) excessive Ans:a
60. The book is — better. (I20T 3 ©ITeT) [RU 07-08]
a) more b) very ¢) much d) far Ans:c
61. My house is — comfortable than my father’s. [DU (A) 09-10, JKKNIU (%) 16-17]
a) very b) much c) to d) much more Ansd
| comfortable g3 comparative 2062 more comfortable _,,J
62.  Choose the correct sentence, [RU 09-10]
a) The patient is very better today. b) The patient is much better today.
¢) The patient is more better today. d) The patient is more good today Ansb

S M very @7 AT much =17 | <1, Comparative degree @ =t& much 307 |
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ANRITE comparative degre

gifee T T, BT comparative d:‘ T the To1 1\ Py vt ofp fe 1 7w w00 R
et comparative form Rree @¥ % the @ 1w of 701 ) arwra awwm  wwrs

99 MR of the ¢

: - IWO (nouns) @a Sogs as q87a o A 4

Of + the + two *+ plural noun, subject + yerty 4) :hc *'u)mr; ' t; ' v
+ comparative

» + Y o T4 1
Subject + verb + the + comparative + of + the + two + plural
i al noun,

o.g. Rosy is the elder of the two sisters, 3
g3, Of the four books, the red/ 9% (A Sy cardh 4y

green one is TS 4
&) more cheaper by cheapest S the —. [CUB7 14-15, smoffim sremidt fms (530 o0m)-35]

od. O_f the two boys, Latif is — il\lelligce)tlil]i?ﬂJ B o USSR
f) more B) most N “ DU (B) 13-1 ;, @fv«zm (APBABE- 35, JIKKNIU (AL) 18-19]

5. Rasel is the smaller — the two boys. e U o
This one is the better — the two. (7351 w4y @351 Ellal)) e me
a) of ' b) as ¢) before d) than [ An-S'a]

6. Of two evils, choose the |ess. '
a) Positive b) Comparative ¢) Superlative d) None - (Lawx:so:;]

67. Altho'ugh Lima is younger than her sister, Lima is the — of the two. [KU (3r2.%) 11-12]
Who is the — of the two? (%2 w=a Wty & aft A7)

h [TU (D) 14-15]
a) tetlles't b) taller ¢) most tall d) more taller Ans:b
68. Which is — of the two? [BSMRSTU F 18-19, 7 firaraa fifeq 23]
a) cheap b) cheaper c) the cheapest d) the cheaper Ans:d
69. He is — of the two. (TS T G7 SIT=T) [RU 09-10]
a) better b) as good as  c¢) the better  d) best Ans:c
70. You will have to choose — the two evils. [CU (D) 09-10, (C1) 15-16]

a) the less of b) the lesser of ¢) the less than d) lesser than e) less than  Ans:b
| the lesser (577=2) of two evils -the less unpleasant of two choices, neither of which are good

71. Select the correct sentence: [PSC-04, 7= Werad iy cafer oads Je-54]
a) This is the wisest plan among the two. b) This is the wiser plan of the two.
¢) This is the wisest plan of the two. d) This is the wiser plan between the two. b
72. Choose the incorrect sentence: [DU (D) 07-10, IU (A) 14-15]
a) Who is the best of the two boys? b) Who is the best among these boys?

' ¢) Who is the best among the three boys? d) Who is the best boy of this group? Ans:a
best @7 #fa@T better @74 | @19, the + comparative + of + the + two (nouns)

Rule 15 B o xR () 7alite 7af6 adverb comparative &3 ety 7l the IT

“& The + comparative + --, the + comparative +- -- structure 0 I@E W

The more you study during the semester, the less you have to study the week before exams.

The greater the population the poorer is the country CauSUECKS AU R)

73. The more she worked, — she achieved. (677 i # oo TV WG ) [CU (B) 15-16]

a) the less b) enough ¢) not enough d) least | Ans:a
4. The — she tried, the — she performed. (G17© T (B8] T O Aate! FET) [CU (D3)15-16)

a) harder, worse  b) hard, hardest ¢) hardest, hard d) hardly, harder Ans:a
75. The - you worry, the better. (¢ - 4Fv8! 4, ©© O[Tl [afearor @ APt ¥ 7 W"g

l?‘) much b) more (@ﬂ) ¢) little d) less (¥%) Ans:
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76. 'The greater the number of bacteria attacking the system, === _ LA
R) sooner must begin treatment b) begin treatment as soon as possible  [CU (B) 06-07)
£) must begin treatment sooner  t) the sooner treatment must be begun Ans:d

77. The more she worked, (01 7S AR 99 3 T8 T wefer #47) [CU(B-1)13-14)
n) she achieved the less b) the less she achieved Ans.
£) she achieved much i) the much she achieved R lzm:.b

78.  The more clectricity you use, . UARIESES "]
a) your bill will be higher B) will be hishir_ ylour bill Ansie
' i sur bill will be ) your bill be higher '

e O e e Ao ss g ) [CUD0809,0) 171y
a) Richer, more he has friends b) The richer, l:lc more ;:cﬁgisf}r]i:::: o
©) Richer, more friends he has d) The richer, the more *

R0. Choose the correct sentence. [emefire & oPret e ]
a) More you read, more you learn b) The more you read, more you learn n
©) More you read, the more you leam @) The more you read, the more you learn '

81. Choose the correct sentence: [DU (A) 04-05, SUST () 09-10, efrfics 7wl P (570)-0]
a) More he gets, more he wants  b) The more he gets, the more newants, KUK 118
&) The more he gets, more he wants. d) More he gets, the more he wants. Ans:b

82. The best translation of ‘(&S TS AW ©© BT is : ICU 14:19)
a) So much the boy gets, so much he wants b) So many the boy gets, so many he wants
¢) The more the boy gets, the more he wants. d) More the boy gets, more he wants.  Ans:c

83. The more you practise speaking, . (TS @ TR AT FILL TS ST IS AT
a) you will do it better b) do it better [efeet TaeiET, To- TS ARGEE-yY]
¢) the better you will do it d) better you will do it  [EeTsty 7R FuET-0q] Ans:c

%4. The longer I live here, (92 To Qe ©© ST e [DU (D) 10-11]
2) 1 like the more b) the more I like it
¢) the more do I like it d) I like it more Ans:b
85. The hotter it is —. (3% G =T +TE WA T© S M) [BSMRSTU (F) 18-19]
a) miserable | feel b) the more miserable I feel
¢) the miserable feel d) the most miserable I feel Ans:b

86. The more we looked at the piece of modern art, -—---- [T T IR-33)
a) the less we liked it b) the more we liked it ¢) we liked it less
d) it looked better e) better we liked it Ans:b

£7. The larger a drop of water, freezing temperature, [JnU (A) 13-14]

- ;)htehe higherits  b) its .h.i{;her ' ¢) higher of its  d) higher than its Ans:a

23 older you get, — difficult it hecomes to find a job, [CU (D) 12-13]
(cevae @231 7e cafel era vrafa e we i 27A)

e ,” nove b) the more  ¢) much d) most Ans:b

" ot hedmen, e i, e 0 0 5.0

% (Law) 07-08, ATO-10, PUST C 16-17, CU B 17-18, Stetiomt censar STTH-30]
4) the higher b high €) the highest  d) the high Ans:a
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/Aﬁ; as the hard gisk is concerned, the bigger,
W ) the best b) the better : {CU®) 11412, 1

g

€) better m be . U (B) 16-17

24 ki St 1 ]

ol. The younger you %Ee, —it 15 to learn. (71 o 7 it 5 ) 2 S (‘Z t};e better  Ang:p
) the easy b) the casier  g) the cagiest d) casier o ) VL8121

02. The more he readzﬂtwhc - he understood. (ki C?IF'T Wr @ T n r;lore c;asy Ans:b
@ little b) lesser o) less ) least I’;C;'l'c t [CU (H) 10-11)

91, The— said about this, the — m Ics Ans:c

& | - B - InU (A) 07-
) few, nest b) less, better €) more, worst d) little, better R0

The more expensive the hotel, — the service, (czisa 75 R CUAns:b
gthebetier  b)thegood &) the best d) the well i

MW superlative degree & +tf the «= 1t offin 7071 | 17 T AT in 0T o
qructure {5 TR - the + superlative degree + noun + of (

95. The bus is the — expensive way to get around,

+ plural noun)/in (*+singular noun)

a) less b) lesser ¢) least d) more [m-mjm%]
96. These shoes are tl‘ne_r— expensive of all. (93 etz sagsm w5 aifir) [CU (H) 1 2n;°>3]c
a) last b) least ¢) less d) lesser e) lattest Ans:b
97. Nature is the — physician. (2575 2wt st ffRreore) e 7z e sy, [U (B) 10-11]
31) good b) better C) best d) excellent Ans:c
98. His wife is — cook in the world. (¢7 43 oty 2ot AL [CU (B) 03-04]
a) the very bad  b) the worst €) worst (ST) d) the most worse Ans:b
99. Heis — in the class. (&1 R Wy sy ) " [RU 05-06]
a) tall b) taller ¢) tallest _d) the tallest Ans:d
100. Mr. Amin has got three sisters. Jasmine is the — one. [NU (375 firsr) 13-14]
a) oldest b) older ¢) elder d) eldest Ans:d
%2 ARRIEE BRI W04 AT B0 T comparative €32 superlative R TU@ elder

4% eldest 72 2T | ©F than &7 S TR elder BT | He is older than I am. (elder 7)
one of the U¥ s superlative degree + plural noun I |
e.g. Shoib Akhter was one of the fastest bowlers in the world.
101. Réjshéhi is --- jute growing areas in Bangladesh. [RU (E) 15-16, enfiw szt fires (37)-33]

Bangladesh is ------ jute growing areas in the world. [KUET 07-08]

Cuba is ==------ sugar-growing areas in the world. [RU (BBA) 07-08, BSMRSTU (C) 11-12]

a) one of the larger b) one of largest

¢) one of the largest d) largest Ans:c
102. Rahim is one — superstitious (FoaBG*m1-FcFRm) people I know. [DU (B) 14-15]

a) much b) very much  ¢) of the more  d) of the most Ans:d
103. Tahseen was one —----— [RU (Law) 05-06] / Sara was one -------- [CU (Cy) 12-13]

Sumon was one -----—-- [ et weTa WA SR g ITE-oc]

?) of the happy childs of his class b) child who was the happiest of all the classes

¢) of the happiest child of the class d) of the happiest children in the class Ans:d

104. Dhaka ig be . > 0y . .
s becoming one of the — cities in Asia.
o UG 10-11, cronommm Sopreeift eca«ell (ffeen)-so, i et e AREAT-23, fifaea ’WA“Tj*\I")]
a) more busy b) busiest ¢) busy d) most busiest §:
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— —
= similar to, different from A M T @R IR M g
TWTSTY the same as, like, similar 1o, different fi Wmﬁm‘ -
uic . s S, ! ant
s. similar, differe Nllﬁ‘ CFTA 1A % .

307 | ¥ the same, “'"f/ll.'l:.;./qimilnr to/ different from + noun. e.g. Bangladcsh.ls like Vietnam
Sub+verb+ lhcl S_ant‘i n:c:" ‘t‘lh" same/alike/similar.  e.g. Bangladesh and Vietnam are alike
Subject and subject +

[CU (B) 0293
¢ correct sentence. ' weh ie ag 1ibs 4
105. (;I;;os‘:::icch is like Vietham.  b) Bangladesh is as like as Vietnam.

] angladcs ¢

¢) Bangladesh is some like vietnam.d) Bangladesh is same to Vietnam. ‘

: ‘ . are smaller, chipmunks are — most other ground Squirrels,
106. AIIhf)}lflh they b) like as ¢) same as d) like (U (1BA) 11-12) Ang:g
107 ;)I:I:Ll:fgll we often use ‘speed’ and ‘velocity® interchangeably, in a technical sense,

' ‘speed’ is not always — ‘velocity’. . .[DU C02-03, PUST A 11-12, JnU D 16-17,JUE 16-17]

a) alike b) the same as ¢) sanlllar d‘) as €) as good as Ans:h
m Half, twice, thrice, one third, two times, three times etc, Ty multiple number az
STe countable noun @ CFT& as many as @R uncountable noun 9 0@ as much as 757
Subject + verb + multiple number + as (many/much) as + noun/pronoun
108. Last year, Matin earned — his brother, who has a better

a) twice as much as b) twice more than
c) twice as many as d) twice as more as
109. Staying in a hotel costs — renting room in a dormitory for a week. [NSTU (C) 12-13]

a) twice more than b) twice as much as [CU (BI) 12-13]

¢) as much twice as d) as much as twice Ans:b
110. This encyclopedia costs — the other one.

Ans:a

position. [CUD 12-13, ¢ 16-17,
JUE3 13-14]
Ans:a

U (B) 19-20]
This dictionary costs — the other one, (4 ST I ST e [JU (B) 18-19]
a) twice more than b) twice as much as

€) twice as much d) twice as many Ans:b

FEE 9 double comparative 93t double superlative @1 JREAJ| B

111. Mina has been suffering from fever for two months. She ---- [CU (B-lj 14-15]
a) is comparatively better today  b) is comparatively the best today
¢) is nicely today d) is better today.

112. Which of the following sentences is correct? [T @ femariiar: Taeme fomrs wed-0a]
a) He is good today than before  b) He is better today RU (anfz) 07-08, Medical 13-14
¢) He is best today than yesterday d) He is comparatively better today. Ans:b

Today 4@ @7 compararative degree 99%@ &7 | T4, than yesterday By s @3z

comparatively &7 4t #4A(% positive degree a0 | [better MY comparatively well/gooﬂ

Ans:d

113. Choose the correct sentence. (Sier ST ST oCH I Y F4fR) [NU (R@m) 11-12]
a) I feel more good today b) I feel better today "
¢) I feel more better today d) He is comparatively better today. Ans:

Superlative degree 9@ At SG@ W ever 1@ present perfect TIge W |
This book is by far the best one he has ever written, (by far the best- figmez 74ww)

114. She is one of the most courgeous persons — [NU (¥f2#) 12-1?(]i
a) I known b) which I'know  ¢) who [ know d) I have ever known.  AnS:
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P is the best story-teller ————., ’ [CU (B) 05-06)
(15 2% g I've ever me b) I've ever met €) that never met d) that I've ever met  Ans:b
\hich one is the superlative degree? (571 FAa 5oy (T A0 TH)  (1U (Law) 04-05)

6. Rose it the finest of all lowers, ) The rose is the finest of all flowers,
0 e rose is finestof all flowers. W) The rose is the finest of all flower. Ans:b
ot (Mmﬂ) qac® singular noun @7 474 the #2711 superlative degree @ 474 the 71|
Eia bl noun @ & all 7 noun B plural €7 47 | (et o assfit (45 A15): 23]

| et counta” w
-~ Which one is correct? (e st wampas Stew/marsta 4G A7) (17" BCS, mfis o 3%

RS i ) SRTHCES s amfaof, TU (%) 12-13, BRUR (A) 15-16, LGRD @7 %t 75513-39]
‘ The Nile 18 Jongest river in Africa. b) The Nile is longest river in the Africa.
§ Nileis Jongest river in Africa. d) The Nile is the longest river in Africa. «d
eNie (et ) = srg W B1% @@ tf the A | wermrag wwd ovA the A7 A1

§ He drives much — than he needs to do. [DU (B) 99-00, NU 10-11]

| prepare my lesson — than you. (@ & i Sfamarad sag T TS o8]

B s0 carcfully — b) more carcful ¢) carefully  d) more carefully Ans:d

3 verb @ modify F® adverb 7795 70 W 43 71 wsifua syllable 7% adverb @7 4 more
i comparative @71 70 | W comparative degree @9 4tf much 777 |

g W8 T WO G JAN FeEd e degree Af# s w908 A |
“Positive S, +V +as + positive + as + S, (He is as strong as lion.)

“Comparative | S2+ V + not + comparative + than + S; (A lion is not stronger than he.)
Jositive | Si + V + not + so/as + positive + as + S, (Rima is not so tall as Shima)
Comparative | Sy +V + comparative + than + §, (Shima is taller than Rima.)

@ WAER W04 e JRICE Fea R degree #ffRes #re T |
“Superlative | S;+V + the+ superlative + S,
He is the best boy in the class.
“Comparative | S; + V + comparative + than any other + S, %I than all other + S, (plural)
| He is better than any other boy in the class.
Positive No other + S; + V (singular) + as/so + positive +as + §,
, No other boy in the class is so good as he.
Superlative | S;+ V + one of the + superlative + S, (plural)
He is one of the best boys in the class.
Comparative | S, +V + comparative + than most other + S (plural)
He is better than most other boys in the class.
Pusitive Very few + S, (plural) + V (plural) + as/so + positive +as + S|
b Very few boys in the class are as good as he.

T z':ubj: one (Pro}lduﬁ/i’ropér noun); S,= subj. two (Common noun), V = Verb
- Dhaka is one of the largest cities in Bangladesh, (Positive) [so% o1 fores Frwe-38]
#) No other cities in Bangladesh are as big as Dhaka.
P) Very few cities in Bangladesh are as big as Dhaka.
8 Very few cities in Bangladesh is as big as Dhaka.

- %) Some cities in Bangladesh is as big as Dhaka. Ans:b
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A WO"'S‘ l\:lr(c)rld were so bad as he.
in the
a) Very few men i

o bad as he.
b) Very few man in the world was s

s 50 bad so he.
¢) Very few men in the world were so‘ i, :
B v man in the world were as bad as 4

d) Very few { the richest persons in the town, What does the sentence implyy
121. f;:' "nll:sro :12:? is as rich as Salman in the town. [DU ¢ 1920
0 other matl s«

: is rich
] in this town 1S 1ic .
ooneintl ‘
I?\tw few persons in the town are as rich as Salman.
€) Ve

: ‘ hers are also rich. Ans.
Salman is very rich but ot \ .
:‘) ;::.::th e prettiest of any wood. (Positive) (v %7 Frovss vt s, soww i v

= #) No other wood is as pretty as it bl.lmS b) No other wood burns is as pretty as it

&) No other wood burns as pretty as it d) No other wood burn ag pretty as it Apg.,
123. It is more than honesty. (Make it ‘Postive’) [mm,ﬁmﬁm(i)-n]

a) Honesty is not as much as it. b) Honesty are not as much as jt.

¢) Honesty is as much as it. d) Honesty is less much as it, Ans:a
124. The sentence “He is one of the best boys in the village' can be written as -

a) Very few boys in the village is so good as he [RU (E, frzars) 1617

b) Very few boys in the village are as good as he

€) Very few boys in the village are better as he

d) Very few boys in the village is very good as he Ans:b
125. Mango is one of the sweetest fruits in the world. (Comparative) [65 foress - 30]

a) Mango is more sweet than any other fruits in the world.

b) Mango is sweeter than all other fruits in the world.

0) Mango is sweeter than most other fruits in the world.

d) Mango is sweeter than any other fruits in the world. - Ans:c
126. Belal is the best boy in the class. (Comparative) (337 31 e o (3)-3¢]

2) Very few boys in the class as good as Belal

b) Belal is a good boy in the class

€) Belal is better than any other boy in the class

d) Belal is better than any other boys in the class Ans:c
127. The Padma is one of the biggest rivers in Bangladesh, (Positive) [syoy = fires fiw-se]

a) Very few river in Bangladesh is as big as the Padma

b) Very few rivers in Bangladesh are as big as the Padma

€) No other river in Bangladesh is so big as the Padma

d) No other rivers in Bangladesh are as big as the Padma Ans:

Dhaka is one of the biggest cities in Bangladesh, (Positive) [sow e firsre fra-38)

128. “Iron is the most useful metal’. The positive form of the sentence is-  [RiSf wed

a) Very few metals are as useful as iron. sreameett (ffeT)->
b) Iron is as useful as many other metals, [RU 05-06]
€) No other metal is as useful as iron,
: c
d) Iron is more useful than many other metals, Ans
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5. Hois the best 20V I the class. ositiyg)
' is a good boy in th a
re i ergbo in t};le | © flass b) No other boy is s e Y e
) No other boy ¢as$ 1s as good as he. ) He is bett A 0 good as he.
Change positive to comparative without ar °f than any other boy ~ Ans:c

130 ‘He is as ferocious as tiger’ any change of meaning,
B A tiger is not more ferocious than he, B A tignr : . [JnU (D) 15-16]
b) A tiger is not ferocious than he Itl) . 8eris not ferocious than he,

| A tiger i - -
31 writing is better than reading' ‘Negati\?, : 18€r 1s not more ferocious than him Ans:a
131. ¢ lorm of the sentence is [So% grer frFa-38]

Ei Writi.ng i's not as good as reading b) Reading is not as good as writi

B Nothing is as good as writing 'd)' No other thing is as good asriv"?tg' ve 16-1.7
132. Choose the comparative form of the sentence: ‘He is as clever as a for;’ng oy

@) He is cleverer than a fox. b) A fox is cleverer than gt hp

Ei A fox is as clever as him, Id) A fox is not cleverer than i]im Ans:d

133. Choose the correct sentence. [0 Wit o s-sty, 12y Faei e eF-5s]
@) Dina is taller than each of her four sisters. ’

= . Ay 356 I 1 G2 -5

b) Dina is taller than all of her four sisters.

¢) Dina is taller than either of her four sisters.

aj Dina is taller than anyone of her four sisters. Ans:d
WWWW @RITT® than €3 7T anyone 367 | (A1 ©FF 519 (T N0 (T AT BT 77H1)
134. The curriculum at the public school is as good ....... of any private school.

a) or better than b) as or better than [RU (B-Law) 15-16]

g as or better than that ‘di as or better than those Ans:c
135. The facilities of the older hospital .........cccceeeeueees : [CU (E) 07-08, DU (B-EE) 08-09]

'E) is as good as or better than those of the new hospital [CU (C,) 13-14, &3 hospital 9

i)) are as good as or better than the new hospital % playground &)

'c) are as good as or better than those of the new hospital [CU D3 16-17, CU A 20-21]

d) are as good or better than the new hospital Ans:c

S $OIE CF0A as/than O AT st singular noun 6% *fe ¥ that of @2 %< plural noun
a7 #aTE those of IIZS T | A ST S & 4% 930 demonstrative pronoun S (T |

i i of three rooms, ---- Was used as a conference room.
e . [a’raam:m@"aﬁf%wcvfm (afFT)-35, RU (B-Law) 15-16, 17-18]

h) larger of which b) the largest of which .
c) the largest of them d) the most largest one Ans:

(g AT fonl ST B@d WE O1 superlative degree J3R® I | W e weo! finite verb
‘iﬁi a3 M (°) wiCg ©1E A0 complex 4 relative pronoun ‘which’ TJ9%® |

3 . . i e fres (o7 mﬁ'ﬂ)-ﬁb]i
137. The Headmaster is the — person in the village- [ Ansic
a) wise b) better W ise N [T FACB-35]
138. @ superlative degree? :
a) He is better than me. i tHe s jhe thhStr? fnzll- Ans:b
— St d) He is best tha -
¢) He is good than me. 139
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139. Select the correct comparative form of the scn::nce ity
‘A string of pearls was not so bright as her tccl Cs)
a) Her teeth is more brighter than a string of pearls.
b) Her teeth were brighter than a string of peatls.
©) A string of pearls was brighter than :wr tlccihtecth Ansg
d) A string of pearls were very bright than he (R 1 o e »

140. Choose the correct sentence. oy
a) Perhaps, this is the most unique solution to your probie

b) Perhaps, this is a unique solution to your problem. "
c) Perhaps, this offers the most unique solution to your problem.

d) Perhaps, this offers the most unique solutions to your problem. Ang:p
141. Corruption is one of the worst evils. (Positive) [seo firms fram (2)-33]
a) Very few evils is as bad as corruption.
b) No other evils are as bad as corruption.
¢) No other evil is as bad as corruption.
d) Very few evils are as bad as corruption. Ans:q
142. The comparative degree of the word ‘bad’ is- de [SnfHG famer T cemam-10)
a) badder b) baddest ¢) worse d) worser Ans:c
143. Which one is not an example of comparative degree?  [1% 8 3@ TR GET TGIIA-0]
a) much b) less ¢) more d) worse Ans:a
144. The comparative degree of the word ‘Prettiest”’ is [Tt T ST (F7)-20]
a) Prettyer b) Pretier c) Prettier d) Pretty Ans:c
145. The rose is the — of all flowers. . [Eret 1 Fifvea ST (TE)-20]
a) more lovely  b) loveliest c) most lovely d) lovelien Ans:b
146. What is the comparative form of ‘Alam is the best boy in the class’?
a) Alam is better than any other boy in the class. [Qr AfRTmRT-20]
b) Alam is better than most other boys in the class.
€) Alam is better than all other boys in the class.
d) Other boy in the class are better than Alam. Ans:a
147. Select the alternative which best expresses the meaning of the given sentence:
We were no more surprised than Rahman. [22™ BCS, it Ryetam caisa Rom @oR-2]
a) We were less surprised than Rahman. b) We were all surprised.
¢) Rahman was less surprised than us, d) We were as surprised as Rahman. Ans:d
148. He is taller — two, (52w w04y o7 ey “T4T) RO Tiee coBr & weleaba-20]
a) of b) of the €) among d) on Ans:b
149. He feels comparatively hetter today. Find the incorrectly used word.
a) feels _ [FreETTT (e RS- 9]
150. Com b) CO."]P_Hr alWCl?’ ¢) better d) no mistake Ans:b
& puter has revolutionized office procedures more than any machine of modern
S, [BSC s west-sy, eraifh wener sy iy afafasipe Sfe-Sv)
'3 23:‘_"}' machine b) any other machine
machine d) none of these Ans:b
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f the right sentence. [DU C 08-09 Ty e vy o S
s€ . y ’ T Sy TR
i l Cho? mobile set is almost same like mine, Mk Ml SR

13k ’j The nobile set is almost same like me,
b) The nobile set is almost same as mine. Wik
¢ Tl:; mobile set is almost same like myself, v
d) Tis peautiful bu__t_she is — her mother, [24" BCS, GRS fer s S
5 §P§wst peautiful b) less bcautiNlEj as beautiful d) not so beautiful ag m‘”‘?“tﬂ
'&herc is the — post office? [ wfiraza A8 -2y ﬂfaw#:s):;
T3 . arest b) most near  ¢) more near d) nearer Ans:a
Today is — than yesterday. = e vt rest v
154, ij ore SANY b) sunniest ¢) sunnier d) most sunny Ans-]
. crildren are wiser than their elders. Here wiser is (ffsr etz sreerdt conaara-s N
= a) in superlative degree b) in positive degree )
Jinco mparatiV.e degree d) not in any degree Ans:c
<6, They were singing — they could. - T U o
) g as well than b)bestthan  ¢) as better than d) as well as Ans:d

57. Sheis - than she looks. I thought she was much older. [ 3 S wsfizaen ey -3

a) taller b) older ©) younger  d) better Ans:c
138. He is the (bad) boy in the class. N [T Bifies SR st werd-su ]
a) worse b) better ¢) worst d) bad Ans:c
159. It was — expensive than I thought._ [T e ceBr @fff W]
a) much b) more ¢) high d) higher Ans:b
160. No animal is so big — the blue whale. [5% oo feae-s0, CAAB @3 5wt w23
a) than b) from ¢) but d) as Ans:d
161. She is — than her brother. [FR et wftmers et 3 sfedi-su]
a) elder b) older ¢) eldest d) oldest Ans:b

 elder T 191 ©I2-(RMTR T4 TACT I @RS than @9 J IR elder 67, older <7
162. Which one is correct? (G SN WCOT ©IC)  [atetione e SesTa-o0b, @@ s-09, CU A 19-20

8) He is as good as myself b) He is as good as me i ST -y
9 Heiis as good as I d) He is as good as mine Ansse
163. Although Moly is younger than her sister, Moly is the tallest of the two.
[Foer si51 Grfini qs Rl i fifise (coof wifees afam)-s)
8)is the tall of the b) is the taller of the
164 t has been the tall of the d) is the most tall of the Ans:b
L thought that — was the last one. [24™ BCS, *za strewl sfFR-0q, RU (E, @) 16-17]
?) the most prettiest of all b) prettiest one of all JnU (D) 17-18
165, c)ht::, Prettiest one from all d) the prettiest one of all . Ans:d
as it ¢ Past six month, the company has already received twice ---— gross 1:;:;u>e>s]
a tarned in thc entire preceding year. Ao iEe it sefiee (B )- j
166, gy o b) more ¢)asmany  d)as more Ans:a
i Bashir s willing to cooperate than his attitude suggests. [ Tea RS THw-23]
= b ‘ ‘ e) leasti Ans:a
. b) least ¢) leastest d) lesser e) leastier
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167. As he accepted the offer —, I had.‘?othmg to do. L [Gerety o %_0\]
a) lately b) latest c) late d) lateness o Anis

168. Helal’s luck couldn’t have been — than Ahnaf. ERRERIEA B C R er e B
Crystal’s luck could have been — thlan pearl. F_‘ql[mﬁ? Gefeeren/ai Féret st ( ATEO)‘N}

a) worst b) worser ) worse d) worsted Ang

169. This bag is — heavier — the other. (a7 EURIA L] Gl *W? @ﬁ‘f ©IfY) [P wfiver m—oq]
A) quite, then b) slightly, than ¢) more, than  d) as, like

Ang
170. The meal did not cost — much — I expected. . [rreeTt s m_oq
a) so, so b) that, like ) as, as d) very, as Ans:¢
171. In what way is your job — than mine? [FrteeTar wfimers Wma.oql
a) similar b) smarter c) better d) fitter Ans:¢
172. Choose the right sentence. (St 3% (oI FATHE (5TH W) [#7 TEHEER SR sy TRo.0q)
a) My pen is more costly than yours. b) My pen is more costly to yours.
¢) My pen is more costly from yours. d) My pen is more costly with yours, Ans:a
173. It had been estimated that — one hundred thousand men participated in the gold
rush of 1988. [ o et et SaefiweTe-oq, JUST (D) 16.17)
5)’ approximate b) as many as c) asmuch as d) more Ans:h
174. Tt is the — city of the country. [DU D 19-20]
a) most populous b) more populous
€) most people d) most population Ans:a
175. Africa is hotter — Europe. 7 - [CU (B) 19-20]
a) than b) then ¢) that d) as Ans:a
176. He can sing better than — in his family. _ [DU (B) 17-18)
g) everybody b) everyone ) anybody d) someone Ans:c
177. A comedy is — than an action movie. | [DU (B) 17-18]
a) more funny  b) funnier ¢) most funny d) funniest Ans:b
178. The Disney Amusement Park in Japan is — Florida or California. [DU (A) 16-17]
a) the largest than the ones in b) larger than the ones in
¢) larger the ones in d) largest of the ones in Ans:b
179. My students’ sleepless nights became — as the finals approached. [JnU (B) 16-17)
a) more frequent b) so frequently ¢) as frequent  d) much more frequently Ans:a
180. She looks — than she is. (St 7 7751 M) [IU (C) 17-18]
a) much younger b) more younger ¢) more young d) Very younger Ans:a
181. These are results I have ever had in an exam! [CU (D) 17-18]
a) the worst b) worst €) worse d) most worse Ans:2
182. What is the superlative degree of the word ‘evil’? [RU (E1) 17-18]
a) most evil b) worst c)bad - d) none Ansd

183. Microscopes make small things appear larger than [RU (D, waifen) 17-18]

a) really are b) are really CU (C1) 14-15, (B2-s) 16-17

< | Ansd

¢) are they really d) they really are 8]
184, The more we — mathematical problems —, [CU () 17-]

I?i solve --- the less we get clever b) do not solve --- the more we get clever -
€) solve --- the less we feel shaky d) solved --- the more we feel shaky ADS:
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186.

._4
O
[y}

. The more money you earn, .

W" that no other car could run ———

L ————
so fast like her car b) as fast as her car [CU @A) 17.18)

{ a5 far the car of her as fast like her car Ans:
The hard-working girl earns e

) twice as much as her half-sister S
§) twice as best as her half-sister
The weather of Dhaka is .,
B as good as or better than

§) as good as and better than

b) twice as many as her half-sister
f) twice as good as her half-sister
sevvvnnnn Kathmanda,

b) as good as or better than that of
t) good or better than that of

Ans:a
[RU (B-Law) 16-17)

= Ans:b
_ The more humidity reading rises,q_— the heat affects us, [CU(C3) 16-17]
B the best b) the worse ©) the worst d) worse e) best Ans:b
~ paromita is taller as well as — than Labony, [COU (B) 16-17]
f) beautiful b) beauty £) more beautiful t) None Ans:c
~ — apples are grown in \Vashingtgn. [NSTU (D) 14-15]
B) Best b) The best &) The better d) The most good Ans:b
_ Which one is not the example of comparative degree? [IU (B) 16-17]
B upper b) less €) highest d) worsc Ans:c

The correct sentence is - [RU (E, c15) 16-17]

@) She is tallest girl in the class  b) She is the most tallest girl in the class

g) She is the tallest girl in the class d) She is taller girl in the class Ans:c

........ [coma 7w caft wief o 73, Wz & B ws @t st 7]
2) the more greedy for money you become [RU (B-Law) 16-17]

b) you become the greedy for more money
¢) the more money you greedy for become

d) become you the more greedy for money Ans:a

194. The roots of the old tree spread out — thirty meters il‘1 all directions and damaged
nearby buildings. _ e [CU (B1) 16-17]
#) too much b) so much ¢)asmuchas d) much more Ans:c
195. The singer’s fame rested on the breadth of his range, which was — any other tenor,
living or dead. [CU (D1) 15-16, (D3) 16-17]
a) greater than that of b) as large as
€) more greater d) broader than the one of Ans:a
196. The weather today is — the weather yesterday.(SIeTsa SRR TSI TIINGTR (5TT JRT)
2) more bad than b) the most bad than [CU (E) 16-17]
€) worse than d) most worse than Ans:c
197. 1f you can type ---------- she can, you must be very good i.ndeed. [CU (C1) 15-16]
#) as quickly than b) as quickly as ¢) quicker as  d) as quick as Ans:b
\9%. This novel is one of the — of this author. [CU (C) 09-10]
&) worse b) worser ¢) more bad  d) wor'st e) l‘)taddest Ans:d
199. Shiela is one of — superstitious people I know. On Friday, the 13" she refuses to
leave her home,  [SUST(A) 13-14]
a) the least b) more ¢) the most d) most . e)”less Ans:c
200, “Come on, walk fasler,” urged my friend, “You are — a tortoise. ‘ [CU (B) 15-1.6]
I!) as slow b) as slow as  €) very slow  d) more slow @) mostslow Ans:b
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EEESSE ADVERB

- m‘“ a4 s word 1 71 Noun 3t Pronoun a8 _
dverb %

m p.C. Das @3 ﬂt’@s.‘; & il AT modify #4S It | @& Adverb # modiﬁermm
parts of gpeech @ QU ¢ g (main function) &9 verb, adjective, adverh q %

- \ga ‘ . .
N.B. adverb (819 ﬁ:m)pmpos““““ conjunction @3 sentence (& modify Fatar @ w ad
|110dif}' ¥ | B IR

#me @ function T - i
FDipak runs quickly. (7 S eI Freita

verb adverb )
2. Lila is a yery beautiful gir
adverb adjective
3. She sings extremely well. (G S3/4T ST AT A - (3T SICEAT?)
: adverb  adverb
4. The bird flew exactly over our head. (RS smiwg e a@wa B fia Bow ot
adverb preposition @ By ﬁm?)
5.1 dislike her simply because she is very rude. (&7 4% Tt @2 Y T AT ST Horgs
adverb conjunction @ o af)
sar, Adverb MR (PRI (where), ¥4 (when), fFers, @ (how), G (why) T3t e -
O | IR, @O QTR (3 TS e AW o} Adverb  [Cliffs -TOEFL Modifier —sie

verb gy

|, (=T 43 T OF0 (- @ A7)

83 T o7 1]

1. What are the four questions that adverbs can answer? [BSMRSTU (D) 15-16, (F) 18-19]
a) why?When?Where?Why b) when?Where?How?Why

¢) why?where? d) To what extent/degree?What? Ansh

2. A modifier can be a/an- B [TU (1) 05-06]

a) adjective b) adverb €) noun d) pronoun Ans:

3. Which of the flowing does an adverb usually answer?

[RU 07-08, CU 07-08]
An adverb usually answers which of the followin

g questions? [ = i fifwm wRem-aw]

a) when b) where ¢) how d) all of these Ansid
4. An adverb does not modify ------- : [ax férwss fre-3y)
a) nouns b) adjectives  ¢) verbs d) adverbs Ans:a
5. Anadverb ------ . [NU (¥=f) 13-14]
a) modifies a pronoun b) modifies an adjective
¢) modifies a preposition d) modifies a noun Ans
6. Which is not true about the function of an adverb? (e Setrgard -]
a) qualifying a verb b) qualifying an adverb
¢) qualifying a sentence d) qualifying an adjective Ansie
7. Adverbs qualify - [MBSTU (D) 16-17]
a) verbs, adverb and adjectives b) nouns and pronouns
€) prepositions d) verbs only Ans#
8. My mother always dresses — (beautiful), [fafbfe's sreard et (W)-ﬁ
a) beauty b) beautify ¢) beautiful d) beautifully i
9. Helived very — with his wife for many years, (iU ©) 10—1.1(]1
a) happier b) happiest  ¢) happy d) happily A ‘
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: m. (@7 AR TRt e [RU (1) 17-18]
b fe di b) imaginative r(:) good rd—j bad

Ans:a
. @ nadl
? )b?: 2‘ modify FC® adverb w3317 1 | have done badly in the exam. [RU B 16-17]

yero *% —

Actioﬂ Kinds of Adverh g
W/T Now, then, before, since, ago, already, today, tonight, yesterday,

f
Adve

tomorrow, still, yet, lately, immediately, late
(Wheﬂ?) fplace abroad, home, here, there, away, upstairs, downstairs, everywhere,

Adverb 0 nowhere, somewhere, above, below, in, inside, out, outside, back
(whcre? coanner badly, well, aloud, silently, sadly, softly, slowly, swiftly, simply,
Advcfb @ ill, fast, hard, barely, wisely, quickly, highly, together, alone
W always, often, seldom, usually, sometimes, occasionally, rarely,
Adverb (genr’ 3o I@?) | never, ever, regularly, once, twice, thrice, again, weekly

(How © fd’;gree almost, much, nearly, quite, too, very, little, more, enough,
Adverd © slightly, somewhat, rather, partly

w0 f purpose s0, so that, in order to, since, intentionally

et 0 Forder First, second, secondly, third, last, lastly, etc.

qv. of cause & effect | Hence (for that reason), therefore, accordingly, consequently
1? .Poor people usually take meal twice. (- a1 woara qraet SR 9EH)  [RU () 06-07]

a) Adverb of degree bi Adverb of frequency |

¢) Adverb of time d) Adverb of reason Ans:b
12 ;The boy has been treated badly’. Here the word ‘badly’ is [KUET 16-17]

' a) Intensifier b) Adverb of manner

¢) Adverb of degree d) Adverb of purpose Ans:b
13. He stood first. Here “first’ is N [Ty TEeeTEE SoREEr A (Ffee)-sy]

a) adverb of time b) adverb of place

¢) adverb of cause d) adverb of order Ans:d

m Adjective + ly = adverb (badly); noun +ly = adjective (friendly)

Friendly, likely, comely @71 adjective @¥ (¥ ly UCTS T adverb e IS © A T
@& @ adverb form (21 @3 Wl ST W WIS AWererw adverb WA adverb phrase
(in a/an - way/manner) J5921 S 1 | @: likely @¥ f#7wS probably @ aﬁ@l@ frie‘ndly
<7 30 in a friendly way/manner I3 ¥ | O, beggarly, comely, costly, hvel'y, likely,
lonely, lovely, deadly (¥rare), silly, ugly (arife-3<fr®), unlikely, unruly, orderly, disorderly,
sprightly, timely Zwyifir *weterra < ly <1l st@e @3t adverb ¥, adjective RET e w6 |

14 Choose the correct sentence. [t e o, Fifae sReTma-39]
a) He acted in a cowardly manner. b) He acted coward manner.
€) He acted in cowardly. d) He acted in coward manner Ans:a
1S, Identify the correct sentence. (7 SR A TFLTS WO FCE) [RU (D) 10-11]

) She behaved with me in a friendly way. b) She behaved with me friendly. |
¢) She behaved with me in friendly way. @) She behaved with me friendly way. Ans:a

y
§ 16, Although he felt very —, he smiled —.  [DU (B) 03-04,NU (3re) 05-06, NSTU (D) 13-14]
i ?‘) angrily, friendly b) angry, friendly [angry 9% ¥ annoyed AFTS AT
©) angry, friendly way d) angry, in a friendly way Ans:d
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UnU (A&B)
A -13)
felt very — he smiled —. .
o Al(houg.l; hj. .anl d b) hungrily, mat_‘rncndl)’ i
— d) hungry, in a friendly manne Angg

¢) hungry, friendly A AL
e Use of some most important Adverbs

foo | | : ()] ?

i lay Romeo.
ant: He is not too old to p

wE Efbarse wid too €T WITT not TIHS T sty A .
Subject + verb + too + adjective/adverb + infinitive (to+verb-smf&syed) -+ extensiop
‘ . . q el FAt 4#0S AAafs ar

e.g. Now I am too busy to talk to you. IS @9s Q3 m ¢ (1T : |

He is — weak to move/walk. (7 @® w47 (@ AGLS/EB0F A A1) [JnU (D) 09-10, HSTU ©) a1
He is — weak to hear what we say. (1 =efs as et or Siat a1 af ot o1 9708 sm ) [Ny 02.03

a) very b) quict ¢) quite d) too Ans:q

I8

19.  The old man was — weak to get out of bed. R ERIEES WW(W}_H]
& @l «e v&w fomr @ Rt s Bore siaf)
a) most b) so ¢) very d) too Ans:{
20.  Her fever is — to ignore. (o171 G @ @ 1 Sroiwt St 717 ) [KU ($S) 07-08)
a) too much high b) so high ¢) too high d) high too much Ans:c
21.  His fever is — to ignore. [CU (B1) 12-13, = an1es fo1. fAforma afema-yaq (afem)]
a) too much high b) much too high ¢) so high d) high to much Ans:h

too much + noun (too much money, too much time, too much traffic, too much indulgence),
much too + adjective (much too young, much too expensive, much too small, much too hot)
22. The tea was — to Sip. (57 @< “2¥ fost (7 e Gt wfey) [CU B2 12-13, CAAB 43 fSarorat wferm-as)

2) too hot much  b) hot much ¢) too hot d) too much hot Ans:c
23.  English language is not — difficult to understand. [SeemT wfzem faame sl )
Don’t worry. English language skills are not — difficult to master. [RU (B, Law) 15-16]
a) as b) so ¢) very d) too Ans:d
24, Don’t worry. English grammar is not — to understand. Rl amm «s w7 77 @ @S
1721 AR =) [13" BCS, APTCATE & ZfAGeTT T2l ifaviere-oe, SERy Seom emfis ses-o8]
a) so difficult b) too difficult e¢) very difficult d) difficult enough Ans:b
25.  The branch of tree is — high for the boy — climb. [STS-3reeT are-33]
@) 50, that b) too, to ¢) s0, very d) so, to Ans:b
26. It was — good (o he true, (451 9@ ©ite fest @y srey 209 [T ) [JnU (D) 07-08]
The bag is - peavy (o carry. (Weis1 @ eify qr qaw ar a7 [CU (D) 11-12]
He was — clever to migs the point, /The man is — dishonest to speak the truth. ]
@) very b) so €) too d) enough AnsS
27. ‘Which of the following sentences has negative meaning? [RU (F1) 12-13
&) My friend is very clever b) Our new messenger is 100 clever to be trusted.

€) He is a good person

. ) . :b
, d) He is interested in bad music Ans
8. Choose the correct sentence,

a)l [ Sxuat caicga wrd sreda-o, JnU (D) 17-15)
am very busy to talk 1o yo, b) I'am very much busy to talk to you.
€) I am so busy 1o talk (o you, Ansd

d) I am 100 busy to talk to you,
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29. Youwere—make such a silly mistake, st 9l
) too foolish to  b) to wise 1o (728 wetrTnE WA B BT 00

©) to rash to d) too intelligent to Ans:d
30. Itis ‘now -—-chp(‘nsivc 1o repair the damage which has been done. (DU (A) 13-14)
n) very much \ b) 100 much €) many d) too Ans:d
wWeTE A e verly ¢n modify #4ts 100 much a2t =41 71 |
31. The JN"“"] costs —l; SRR L0 S ———— (50)-35]
a) too much ) 100 many €) ma i
¢ an expensive Ans:a
e i ey : & exp

e AU adverb fawna enough aaws 2 ot w4413 Gt 9 gt wa |
Structure: Subject + verb 4+ adjective/adverh + enough + to + verb (3594

wre adjective ST cnough T3%® 21 & noun @ modify # 6% noun @ oA 7 |
Subjecttverb + enough + noun + o + verb (7r#fEmyd)
g W, enough SR noun 97 wiot frg adjective/adverb a7 #7071 |
32.  Which of the following is incorrect?
a) We haven’t got enough milk. b) 1 did not study enough hard.

€) Is your coffee hot enough? d) She did not have enough interest. Ans:b
33. Aseventeen years old is not — to vote in an election.

[RU (S12) 07-08, (&) 04-05, 09-10, CU (E) 12-13, NBR @7 i 2171 sdai-30, BU () 15-16]

[NU () 13-14]

a) as old enough  b) old enough ¢) enough old d) enough old as Ans:b
34. Hedidn’t get the job because he wasn’t ------ (7 o1fafe =3fa S/ o7 T wfowm 2 )
a) enough experienced b) experienced enough [JKKNIU (%) 15-16, (1) 16-17]
¢) experience enough d) experience although Ans:b
35. When your body does not get —, it cannot make the glucose it needs.  [DU (C) 04-05]
a) food as enough b) food enoughly [Barron’s TOEFL P73]
¢) enough the food d) enough food e) food enough Ans:d
36. He acted — to win the competition. Fill in the blank. [CU (A) 06-07]
a) well enough  b) enough well ¢) enough d) enough quick Ans:a
37. Computers that once took place up entire rooms are now — to put on desktops and
into wristwatches. [DU (D) 09-10]
a) small enough b) smaller than ¢) as small as d) so small Ans:a

LGP Hardly @2 w4 2zt almost not, seldom, rarely, scarcely I AR, &R 911 Hardly
wate -car4w 9e g 707 | Hardly #4912 principal verb @7 <td 3071 &€ be verb 93 =i 31
38. The word ‘hardly’ means- [FraereenIel NAFTH ARSI K- Yo, FFA GRS FLe@r Fres-3n)

My friend hardly works in the afternoon. [RU (Law) 11-12]
a) almost never/not b) always ¢) seriously d) regularly Ans:a
39. He is hardly happy. The word ‘hardly’ is used —[RU (GeR) 07-08, JU (GTem) 09-10]
a) negatively b) positively  ¢€) subjectively d) predicativ.ely Ans:a
40. I hardly go out after dusk.’ The correct Bangla translation is-  [anfe sRed Free-3s)
a) Wi STy 47 v atgca wE | D) Wi TEI I ST R W T -3
) I ST A e Arac g A 1 () S ST e oS A W Ans:d
4. - g0 out after dusk, (@fsr sl “cd avifoe 4% A1R) [KU (e 3) 11-12)
a) hardly b) lately ¢) shortly d) early Ans:a
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